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f'k{kd vafdr ewY;kadu i=k
Tutor Marked Assignment

dqy vad% 20
Max. Marks: 20

fVIi.kh% (i) lHkh iz'uksa ds mÙkj nsus vfuok;Z gSaA izR;sd iz'u ds vad mlds lkeus fn, x, gSaA
Note: All questions are compulsory. The marks allowed for each question are given against it.

(ii) mÙkj iqfLrdk ds izFke i`"B ij Åij dh vksj viuk uke] vuqØekad] vè;;u dsUnz dk uke vkSj fo"k;
Li"V 'kCnksa esa fyf[k,A
Write your name, enrolment number, AI name and subject on the top of the first page of the

answer sheet.

1. fuEufyf[kr iz'uksa esa ls fdlh ,d dk mÙkj yxHkx 40&60 'kCnksa esa nhft,A 2×1=2

Answer any one out of the following questions in about 40 to 60 words.

(a) tc fdlh dekuhnkj rqyk ls yVdrh gqbZ oLrq dks ty esa Mqcks;k tkrk gS rks ;g Bhd ty ds i`"B ds uhps
rSjrh gS vkSj vius Hkkj esa 100 g dh gkfu n'kkZrh gSA (ikB 11 ns[ksa)

(i) oLrq dk ty esa Hkkj fdruk gS\

(ii) oLrq dk ok;q esa Hkkj fdruk gS\

(iii) oLrq ij mRIykou cy fdruk yxrk gS\

(iv) oLrq dk vk;ru fdruk gS\

vius mÙkj ds leFkZu esa rdZ Hkh nhft,A fn;k gS % ml  LFkku fo'ks"k ij xq#Ro ds dkj.k Roj.k 10 m s–2

gS, 1 g ty dk vk;ru = 1m L

When a body hanging from a spring balance is immersed in water it floats just below the surface of water

and shows 100 g loss in its weight (See lesson 11)

(i) What is the weight of the body in water?

(ii) What is the weight of the body in air?

(iii) What is the upthrust on the body?

(iv) What is the volume of the body?

Give reasons for your answers. Given: acceleration due to gravity at the place  is 10 m s–2, volume of 1

g of water = 1 m L
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(b) 80 cm yEckbZ dh ,yqehfu;e dh ,d NM+ dks xeZ djus ij bldh yEckbZ esa 1mm dh o`f¼ gks tkrh gSA
;fn bl NM+ dk izkjafHkd rki 20 °C Fkk rks vafre rki D;k gksxk\ (fn;k gS % ,yqehfu;e dk jSf[kd izlkj
xq.kkad = 25 × 10–6 / °c gS) (ikB 14 ns[ksa)

The length of an aluminium bar of length 80 cm increases by 1 mm on heating. What is the final temperature

of the bar if it was initially at temperature 20 °C? (Given : Coefficient of linear expansion of aluminium

= 25 × 10–6 / °c) (See lesson 14)

2- fuEufyf[kr esa ls fdlh ,d iz'u dk mÙkj yxHkx 40-60 'kCnksa esa nhft;s% 2

Answer any one of the following questions in about 40-60 words:

(a) (i) ;g rF; fd 168 g Fe, 72 g H
2
O ds lkFk jklk;fud vfHkfØ;k djds 232 g Fe3O

4
 rFkk 8 g H

2

cukrs gSa jklk;fud la;kstuksa dk dkSu lk fu;e n'kkZrk gS\ (ikB 3 ns[ksa)

Which law of chemical combination is illustrated by the fact that 168 g Fe reacts with 72 g H
2
O to

form 232 g Fe
3
O

4 
and 8 g H

2
? (See lesson 3)

(b) tc lYi+Qj gok esa tyrk gS rks og lYi+Qj MkbZvkWDlkbM cukrk gSA

(i) ;g jklk;fud vfHkfØ;k m"ek{ksih gS ;k Å"ek'kks"kh\

(ii) ;g vfHkfØ;k fuEufyf[kr esa ls fdl izdkj dh gS\

la;kstu] fo?kVu] foLFkkiu] f}foLFkkiu\

(iii) bl vfHkfØ;k esa dkSu lk rÙo bysDVªksu xzg.k djrk gS vkSj fdrus bysDVªksu\ (ikB 4 ns[ksa)

When sulphur burns in air, it produces sulphur dioxide.

(i) Is this reaction an exothermic or endothermic?

(ii) Out of the following, which type of reaction is it?

Combination reation, dicomposition reaction, displacement reaction, double displacement reaction.

(iii) During this reaction which element gains electrons and how many? (See lesson 4)

3- fuEufyf[kr esa ls fdlh ,d iz'u dk mÙkj yxHkx 40-60 'kCnksa esa nhft;s% 2

Answer any one of the following questions in about 40-60 words:

(a) (i) ,d thok.kq dksf'kdk rFkk ,d ikni dksf'kdk dk js[kkfp=k cukb, vkSj muesa ftl LFkku ij vkuqoaf'kdh
inkFkZ vofLFkr gSa dsoy mudks js[kkafdr dhft,A (ikB 21 ns[ksa)

Draw outline diagrams of a bacterial cell and a plant cell. Label only the parts which carry the

hereditary material in these cells. (See lesson 21)

(ii) ^thou dh mRifÙk* ls tqM+s gq, dqN oSKkfudksa ds uke uhps fn, x, gSaA buesa ls ,d oSKkfud dk uke
igpkfu, ftUgksaus thou dh mRifÙk ds fl¼kUr dks iz;ksxkRed lcwr nsdj lqn`<+ fd;kA

,- vkbZ vksiSfju] LVSuyh feyj] ts-ch- ,l gkSYMsu] gSjksYM ;wjsA (ikB 20 ns[ksa)

Names of scientists associated with 'Origin of life' are given below. Identify one scientist out of

these who gave experimental evidence for supporting the theory of origin of life.
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A.I. oparin, Stanley Miller, J.B.S. Haldane, Harold Urey. (See Lesson 20)

(iii) raf=kdh; Ård dh ,d dksf'kdk ds bl fp=k esa ml Hkkx dk yscy o uke fyf[k, ftlds }kjk vxyh

,slh gh dksf'kdk esa vkos'k dk lapkj gksrk gSA (ikB 21 ns[ksa)

In the diagram of cell of nervous tissue given here, write the name and

numbered label of the part from which nerve impulse passes on to the

next such cell. (See Lesson 21)

(iv) jDr lewg ch okys csVs ds firk o ekrk ds thu la;kstu Øe ls IAi rFkk
IBi gSaA fp=k }kjk muds iq=k ds jDr lewg dh vkuqoaf'kdk dks n'kkZb,A

(ikB 25 ns[ksa)

The gene composition of father and mother of a boy with blood group B is respectively IAi and IBi.

Express diagrammatically the inheritance of blood group B in their son.

(b) (i) fdlh jksxh ds nksuksa o`Dd ;fn dk;Z djus esa v{ke gks tk,a rks mUgsa fdl izdkj thfor j[kk tk ldrk
gS\ ,d&nks okD;ksa esa fy[ksaA

If both kidneys of a patient stop working, then how may a patient be made to survive? Explain in

one or two sentences. (See Lesson 22)

(ii) iqQÝiqQl esa vkWDlhÑr o dkcZu&MkbZ&vkWDlkbM ;qDr ok;q dk fofue; fdl izdkj gksrk gS\

How is Oxygenated and Carbon-di-oxide laden air exchanged in the lungs? (See Lesson 22)

(iii) ,d okD; esa ijkx.k rFkk fu"kspu esa vUrj crkb,

Differentiate between Pollination and Fertilisation in one sentence. (See Lesson 24)

(iv) ;fn fu"kspu ugha gksrk rks ,d esa vaM dk fu"dklu ftl izfØ;k }kjk gksrk gS mldk uke fyf[k,A

In case there is no fertilisation the egg from a human female exits the body. What is this process

termed? (See Lesson 24)

4. fuEufyf[kr esa ls fdlh ,d iz'u dk mÙkj yxHkx 100&150 'kCnksa esa nhft,A 4

Answer any one of the following questions in about 100 to 150 words.

(a) fo|qrjks/h rkacs ds rkj dks lVk&lVk dj yisVh xbZ vusd iQsjksa dh ,d csyukdkj dqaMyh dks {kSfrtr% j[kk
x;k gSA dkj.k lfgr le>kbZ, fd D;k gksxk tc & (i) csyukdkj dqaMyh dh v{k ds vuqfn'k ,d pqEcdh;
dEikl lqbZ j[kdj blds fljksa ds chp ,d fo|qr lsy dks tksM+k tkrk gSA (ii) dqaMyh ds fljksa ds chp ,d
xSYosuksehVj tksM+dj ,d pqEcd  dks dqaMyh ds v{k ds vuqfn'k pyk;k tkrk gSA (ikB 17 ns[ksa)

A tightly wound cylindrical coil of large number of turns of insulated copper wire is held horizontally.

Giving reason explain what happens when (i) a magnetic compass needle is placed along the axis of the

cylindrical coil and a electric cell is connected across it. (ii) a galvanometer is connected across the coil

and a magnet is moved along the axis of the coil. (2+2=4) (See lesson 17)

123
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(b) Bksl vkSj nzo v/krqvksa dk ,d&,d mnkgj.k nhft;sA fuEufyf[kr jklk;fud vfHkfØ;kvksa ds fy, larqfyr
jklk;fud lehdj.k fyf[k,A (ikB 27 ns[ksa)

(i) ,d v/krq dh vkWDlhtu ls vfHkfØ;kA

(ii) ,d v/krq ds vkWDlkbZM dh ikuh ls vfHkfØ;kA

(iii) ,d v/krq ds vkWDlkbZM dh {kkj ls vfHkfØ;k

Give one example each of a liquid and a solid non-metal. Write blanced chemical equations for the

following.

(i) reaction of a non-metal with oxygen.

(ii) reaction of a non-metal oxide with water.

(iii) reaction of a non-metal oxide with a base.

5. fuEufyf[kr iz'uksa esa ls fdlh ,d iz'u dk mÙkj yxHkx 100&150 'kCnksa esa nhft,A 4

Answer any one of the following questions in about 100-150 words.

(a) tSo fodkl dh vk/qfud la'ys"k.kkRed okn ds fl¼kUr ds vuqlkj] fuEufyf[kr esa ls izkÑfrd oj.k dk vFkZ
le>kus okys lgh okD;ka'k dk p;u dhft, rFkk vius mÙkj dh iqf"V dhft,A (ikB 20 ns[ksa)

(i) leFkZ dk thoRo

(ii) thou dh mRifÙk

(iii) vuqdwy ykHk okys ifjofrZr thu dk vf/d ls vf/d tuu

(iv) vkS|ksfxd feySfuu o.kZd

Choose the correct phrase that explains the meaning of National Selection according to the modern

synthetic theory of evolution and justify your answer. (See lesson 20)

(i) Survival of fittest

(ii) Origin of life

(iii) Greater reproduction of variant genes with adaptive advantage

(iv) Industrial melanism

(b) fdl izdkj ,d ikni ok;q ls dkcZu&MkbZ&vkWDlkbM ysdj viuk Hkkstu cukrk gSA fdl izdkj Hkkstu dks ikni
izR;sd va'k esa igq¡pkrk gS\ (ikB 22 ns[ksa)

How does a plant utilise the carbon-di-oxide obtained from the atmosphere to manufacture its food?

How does it transport this food to all its parts. (See lesson 22)
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6. uhps nh xbZ ifj;kstukvkas dh lwph esa ls dksbZ ,d ifj;kstuk yxHkx 500 'kCnksa esaa rS;kj dhft,A 6

Make any one project out the list of projects given below in about 500 words.

(a) de ls de N% fo|qr pqEcdh; fofdj.kksa ds uke fyf[k,A muds laca/ esa uhps nh xbZ lkj.kh esa ekaxh xbZ lwpuk
Hkj dj bls iwjk dhft, % (ikB 18 ns[ksa)

Øe la- fo|qr pqEcdh; vko`fÙk ifjlj rjaxnSè;Z ifjlj ÅtkZ ifjlj mi;ksx
fofdj.kksa ds uke (Hz) (m) (eV)

1.

2.

3.

4.

5.

6.

Write names of atlest six types of electromagnetic radiations and complete the information in the following

table regarding them: (See lesson 18)

S.No. Name of Frequently Range Wave length Energy Range Use

Electro-magnetic (Hz) Range (m) (eV)

Radiation

1.

2.

3.

4.

5.

6.

(b) bUVjusV dk iz;ksx] iqjkuh if=kdk vFkok lekpkj i=kksa dk bLrseky vFkok fdlh vkSj izdkj ls tkudkjh izkIr
dhft, (fp=k lesr) o bl tkudkjh ds iz;ksx ls rS;kj djsa %

ik¡p LykbM vFkok ikoj IokbaV izn'kZu vFkok ik¡p pkVZ vFkok fÝyi dkMZ vFkok dksbZ Hkh vU; izdkj ls fuEu
'kh"kZd esa ls fdlh ,d tkudkjh dk izn'kZu dhft,A

(i) izkÑfrd vkink ftlus gekj ns'k ds fdlh Hkkx esa] bl 'krkCnh esa rckgh epkbZA

(ii) de mi;ksx] iqu% mi;ksx] ejEer o iqupZØ.kA

(iii) ekSle ifjorZuA
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(iv) dkSaØhV ds vR;f/d mi;ksx }kjk Hkou fuekZ.k dk izHkkoA

(fdlh ,d 'kh"kZd ij)

Use the internet or old magazines or newspapers or any other way to gather material including photographs

and prepare either a five-slide projection/powerpoint presentation    or (See lesson 30)

5 posters or 5 charts or five flipcards or any other method of presentation for any one of the following

topics.

(i) Natural disaster that has caused our country havoc in a part of in the present century

(ii) Reduce, Reuse, repair, recycle

(iii) Climate change

(iv) Impact of excessive concrete construction

To score better in NIOS and for good
percentage contact @ 9839065533To score better in NIOS and for good
  percentage contact @ 9839065533


